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Answer all the questions by choosing correct alternative:
2x25=50
A% em oo wca effols amsim Ted mie
1. How many members of Lok Sabha can be elected by
the people?

a) 530 b) 545
c) 550 d) 552
ETRPTEIR FoeH Tl wsled 7l fifoe 272
a) @90 T b) 8¢ &
C) (@eo e d) eexEd
2. Who can cast the casting vote?
a) President b) Prime Minister
¢) Governor d) Speaker
s (15 (& 2mia R 2
a) qEAfe b)  aE
c) Sreyeflet d) ~fs=

[Turn Over]

3.  "Parliamentary Government" is also known as—
a)  Cabinet Government

b)  Responsible Government

c) Westminster Government

d)  All of the above

“FARR AT S#AF A Ao 2

a)  HIREG TR

b) IR AT

c) SRR T
d) TR ek

4.  The Upper House of the parliament is—

a) Lok Sabha b) Rajya Sabha
c¢) Bidhan Sabha d) Bidhan Parishad
ARATICHH THFF 261 —
a) (eTeTel b) SrErTel
c) fueere! d) Resifaaw
5. Who decides whether a bill is a Money Bill or not?
a) President
b) Prime Minister
c) Speaker of Lok Sabha
d)  Chairman of Rajya Sabha
CIC! e e o, ot fersfimel e —
a) qgelfe b)  @iE
C) (TIPS T d) GpTeR FeHite
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What is the tenure of office of Rajya Sabha
members?

a) 5 years b) 6 years

c) 7 years d) None of these

a) @3IxF b) v3Iwg

c) ad=d d) «sler @IEDR

Main function of the Indian Parliament is—

a) Lawmaking

b)  Election to the President

c) Justify the Constitution

d)  Advise the Governor

ISR AT &I F1eT 261 —

a) SR R b) el Fioa

¢) IRRHET A Aniw d)  ACTARTCE A @riE

How many people can the President nominate in the

upper house of Parliament i.e. Rajya Sabha?

a) 8 b) 10

c) 12 d 14

AACES THFF S ACTHSIT AFoIS TG NlAro
FACS Al 2

a) v eq b) so&q

C) SXE d) s8@«

Which bill is bound to sign by President?

a)  Public Bill b) Private Bill

c) Money Bill d) None of the above
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10.

11.

12.

AFARS (I Reet 7afs emit iy A= 2

a) I & b) e [

c) wgfw d) «slr @IEDR
Minimum age for getting elected in Rajya Sabha is—
a) 18 b) 21

c) 25 d) 30

AepreR b 2R Paes T2 76 —

a) Sv b)

c) 3¢ d) wo

The President shall nominate the total number of
members in Lok Sabha are—

a) 1 b) 2

c) 3 d 5
AT FRFTOR NS FACO 2NF —
a) SEd b) @9

C) 9Gdg d) coe

A Money Bill can originate only in —

a) Lok Sabha

b) Rajya Sabha

c¢) Bidhan Parishad

d) Both of the Lok Sabha and Rajya Sabha

el Slifre 27 wysg —

a) (TTelte
b) AETSICe
c) Ruweifmm

d) ETRTel € Gl T
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13. Ex-Officio chairman of the Rajya Sabha is —
a) President b) Speaker
¢) Vice-President d) Prime Minister
AEPTSR smifEFa e Telsifog T —
a) AGls b) =
¢) Somigefe d) exiE
14. Where is the Budget introduced in India every year?
a) Lok Sabha b) RajyaSabha
c) Both house d) None of them
SIS JEH AT A (FIAR T 232
a) ISR b) TSR
c) CouaCw d) IEE T
15. Who is known as the father of Lok Sabha?
a) GV.Mavalankar b) RabiRay
c) P.A.Sangma d) Balaram Jakhar
& TRl e f2a1iea Afifbw 2
a) fafe. Teeia b) FRIW
c) fola. il d) TN EF
16. What is the total number of members in the Lok
Sabha quorum?
a) /5 b) 1/3
c) 1/10 d 1/2
ERTER (FIEN 2 (6 F© METF SoAfRfore
a) /e b) /e
c) o/vo d) /3
394/Pol.Sc. [5] [Turn Over]

17.

18.

19.

Who gives the final consent for the passage of the
bill to a law?

a) Prime Minister b) President
c) Vice-President d) Speaker

(P FFEFG A (I e g offaers g2

a) 2N b) =Felfe

c) CoRgelfe d) ==

The Speaker of the Lok Sabha is elected by the —
a) President

b) Prime Minister

c) Members of both Houses of Parliament
d) Members of Lok Sabha

ETR™TeR AR FF w0 22
a) Fgelfe

b)  duewE

¢)  ARTEICER Tox FCH A5l B
d) EIRTSR e &kl

The Joint sitting of both the Houses is chaired by
the —

a) President b) Vice-President
c) Prime Minister d) Speaker
TOIRCRHA (J12 S0 oy Feae —

a) Fgefs b) ToaEefS

c) Al d) Al
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20.

21.

22.

What is the minimum age for holding office in the
Lok Sabha?

a) 18 years b) 21 years
c) 25 years d) 30 years

ETRPTORI 2T AP G FH T S ?

a) Sy I b) 33w

c) RC3I;F d) wo3mg

The Parliament of India consists of the following —
a) President

b) Lok Sabha and Rajya Sabha

c¢) Both(a) & (b)

d) None of the above

SRS 2 9/ 28 —

a) AGls b) EIFTel € AEpTel

¢c) (@ERMD)TSI d) TR @F0 T

Who presents the Budget in the Parliament?
a) Home Minister b) Prime Minister

c) Finance Minister d) President

AITCG QST (o FE (2

a)  FATNE b) @
c) W d) S
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23.

24.

25.

Within how many days government has to pass money
bills related to the union budget?

a) 30 days b) 60 days

c) 75 days d) 90 days

Fo T N TR 2SR AEs 7TiFe wiedfe
AP FICO 2(J?

a) 9o fud b) vofum

c) aefim d) sofm

Which article of the Constitution deals with financial
bill?

a) 108 b) 110

b) 112 d 117

RIS (I i SLieelE et a1 ey [Re o
RUGIPRIS IR (34

a) sSov b) svo

c) 553 d) va

The impeachment of the President can be initiated

in —

a) Lok Sabha

b) Rajya Sabha

c) Either House of the Parliament
d) Joint Session of both the Houses

G 6T ©F 209 AT —
a) TSR
b) TSR

c) TR @ (I FCF
d) TICHFI (@1 ST
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